FUBAG

BS6600 (838202)

2.51.04.000300

JaT4uK Macia

H(l)yrfp KO/l HAUMeHOBaHUe KOJI-BO
1 2.51.03.000200 peryar 1
2 2.63.01.00371 npokiaaka 8%17*1 2
3 2.51.17.002300 canbHUK 8*14*5 1
4 2.63.02.006400 noamuIHuk 6202 1
5 2.63.01.01567 mHT 2000-1%6.5 1
6 2.51.04.000700 KOMMYTaTop 1
7 2.63.01.00191 6ot M6*16 2
8 1
9 2

2.63.01.01717

Oourt cimBHOM M12*15%1.5




IMMPOKJIaJIKa AJIIOMUHHECBAA

10 2.63.01.00845 12%20%2 2
11 2.51.01.009700 KapTep 1
12 2.51.17.002000 canbHUK 35%*52%8 1
13 2.63.01.01756 6ot M8*40 1
14 2.62.01.000500 OJIOK PEe3MHOBBIN 1
15 2.62.01.003000 32KUM 1

HOMeEp

u/n KO/ HAHMeHOBaHHe KOJI-BO
1 2.56.08.001800 KpBIILIKa JBATATEISA 1
2 2.63.01.01806 6ot M5*12 1
3 2.60.01.000200 IPOKJIaJKa KPBIIIKU KapTepa 1
4 2.63.01.00404 mrudt 8§*14 2
5 2.63.02.006100 noamuiHuk 6207 1
6 2.63.02.006400 noamuIHuk 6202 1
7 2.51.17.002000 caJlbHUK 35*52%*8 1
8 2.63.01.01814 6onT M8*40 7
9 2.56.08.000500 0JIOK MOTOPHBIN 1
10 2.51.02.000200 PETYJATOP CKOPOCTH Mepeaad 1

[u—
[u—

2.51.05.002500

KpBILIKa KapTepa




12

2.51.06.001100

IIyTI

1
s’

(e

3
2
\

o

"\ |
A\ N/

e

4

H(:ylfp KO/ HaNMeHOBaHMe K0JI-BO
1 7 63.01.01569 60T M6*61 KpBIIIKHA TOJTOBKU 1
WIAHAPA
2 2.50.01.005200 KPBILLIKA FOJIOBKY IIMJIMHIPA 1
3 2.60.09.000200 “pOK“;II‘OKIfaKLII’P‘I’EEEpr;OBKH 1
4 2.50.13.000200 TpyOKa camyHa 1
5 2.50.05.001400 KopoMbiciia (Habop) 2
6 2.50.09.001400 cyxapb 2
7 2.50.09.000600 IIpy’KMHA KJalaHa 2
8 2.50.09.000400 MpY>KUHA KJIalaHa 2
9 2.50.09.000700 MpY>KUHA KJIalaHa 1
10 2.50.10.000200 MPOKJIaJIKa BITyCKHOTO KJIanaHa 1
11 2.63.01.01780 o6onr M10*85*1.25 4
12 2.63.01.01053 6onT M8*34 2
13 2.53.06.000200 cBeya 3akuranust F7TC 1
14 2.50.04.001200 KJIallaH BBIITYCKHOM 1
15 2.50.03.001700 KJIallaH BIYCKHOM 1
16 7.60.08.001300 MPOKJIAJIKa TOJIOBKH OJ0Ka 1
LWINHAPOB
17 2.50.02.004100 roJIOBKa OJI0Ka IUIMHAPOB 1




18 2.63.01.00925 6ont crepxHs 6-8*110 2
19 2.52.06.001600 KOXYX 1
20 2.63.01.01756 oot M6*12 1
21 2.50.06.000200 IJIacTUHA 1
22 2.63.01.00405 mtudt 12*20 2

H(r)[1>111€p KOJ HaNMeHOBaHMe KO0JI-BO
1 2.50.11.003600 (bUIBTp BO3IYIIHBIN 1
2 2.63.01.00291 raiika M6 2
3 2.60.02.000300 MPOKJIaiKa 1
4 2.55.02.001100 ajanTep kKapOroparopa 1
5 2.60.04.000300 IpOoKJIaaKa KapOroparopa 1
6 2.55.01.001700 KapOroparop 1
7 2.60.05.000300 | mpoxiaaka BO3AYIIHOTO (hpHIbTpa 1




o

H(r)y;p KO/ HaNMeHOBaHMe K0JI-BO
1 2.53.02.000400 MOZYJIb 3aKATaHUS 1
2 2.63.01.00914 6ont M6*25 2
3 2.53.01.000200 MaXOBHK 1
4 2.52.04.000300 BEHTUWJISITOP OXJIAXKICHUS 1
5 2.52.03.002700 CTaKaH cTapTepa 1
6 2.63.01.01572 raiika M16*1.5 1
7 2.63.01.01756 6ot M6*12 1
8 2.52.01.130000 cTaprep 1




H(:;llfp KO/ HaNMEHOBaHMe K0JI-BO
1 2.50.07.001700 HIaTyH 2
2 2.50.08.000300 ToJKaTenb 46mm 2
3 2.51.11.002800 Ha0Op MOPILHEBBIX KOJIEI 1
4 2.51.08.003400 MOpILIEHb 1
5 2.51.10.000300 CTOTIOPHOE KOJIBLIO 2
6 2.51.09.000200 nazen nopurHs 14.8*920%62 1
7 2.51.12.004800 mwatyH 112.3mm 1
8 2.51.16.005000 pacnpenBan 1
9 2.51.14.001300 OanaHcup 1
10 2.51.15.018500 KOJICHBAJI 1

HOMep KOJI-
KOJ HANMEHOBaHHE
n/n BO
1 2.63.01.01756 oot M6*12 2
2 2.54.01.009800 | ympaBnsroIIas APOCCETHHOM 3aCIOHKON 1

npy>kuHa poccenbHas /@1.5%35.75 A
139mm

npy>uHa apoccensHas ¢0.4*31.7 B
217mm

3 2.54.02.000500

4 2.54.02.000600




5 2.63.01.00291 raiika M6 1
6 2.63.01.00124 6ont M6*21 1
7 2.54.04.003500 perymnstop ckopoctu 2.2MM 1
8 2.54.03.002300 phIuar IpocCeIbHOU 3aCIIOHKHI 1

H(z}lrfp KO/ HaNMeHOBaHHe KOJI-BO
1 2.60.03.000300 MIPOKJIAJIKA BBIXJIOMHOM TPYOBI 1
2 2.50.16.000100 TpyOa BBIXJIOMHAS 1
3 2.63.01.02743 6ot M8*32 2
4 2.63.01.01705 mraiba mpyXxuHHas O8 2
5 2.63.01.00287 raiika M8 2
6 2.63.01.01705 maif6a npy>xuHHas O8 2
7 2.63.01.02093 nraiiba rockas @8 2
8 2.60.06.000600 MPOKJIA/IKa TIyIIUTENs 1
9 2.50.12.027000 rymuTens 148mm 1
10 2.50.15.000800 KPOHILTENH Ty IUTENs 1
11 2.63.01.01808 6ont M8*16 4
12 2.63.01.01756 6ot M6*12 1
13 | 2.50.14.000500 Kpomﬁi‘;iﬁ;g‘ymom 1




HOMeEp

w/n KO/ HAaUMeHOBaHUe KOJI-BO
1 2.63.01.00243-1 6ont M6*180 4
2 2.56.05.000100 CYHIoOpT albTepHATOPA 1
3 2.56.03.000803 KJIEMMHas KOJIOJIKA 1
4 2.62.01.001000 MIPOBOJ 2
5 2.63.01.01806 6ot M5*12 5
6 2.56.04.000100 ABP 230V 1
7 2.60.10.002900 npokiagka ©6.2*®10*0.8 2
8 2.63.01.01806 o6ont M5*12 2
9 2.56.07.011700 KpBIIIIKa TeHEpaTopa 1
10 2.63.01.00163-1 6onT M5*16 2
11 2.63.01.01811 nraitba npyXuHHAS OS5 1
12 2.63.01.00446 npokiaaka 5*10*1 1
13 2.56.03.000600 CTaTOp U POTOP 1
14 2.63.01.00163-1 o6ont M5*16 1
15 2.56.03.000802 HIETOYHBIN y3el 1
16 2.63.01.00085 6ont M5*224 2
17 2.63.01.00075-1 6ot M10*275 1
18 2.63.01.02095 maiiba npyxuHHast @10 1




19 2.63.01.00444-1 mraiiba riockas 10%*30%4 1
) )
élyfl I)'I tﬁy‘l‘ .l" ]
s i
HOMeEp
KO/ HAaUMeHOBaHUe KOJI-BO
n/n
1 2.57.01.068500 pama 408mm/32mm 1
2 2.57.04.039100 KpOHUITEITH 1
3 2.61.04.003900 omnopa JABUTaTENs 2
4 2.63.01.00287 raiika M8 2
5 2.63.01.01762 raiika M10*1.25 6
6 2.63.01.03103 6ont M10*40*1.25 2
7 2.63.01.03102 BUHT M8*16 2
8 2.61.05.001301 pamka 6110ka 6amrepa (JIeBas) 2
9 2.61.05.001302 | pamka Gmoka 6Gammepa (rpaBas) 2
10 2.61.05.002600 oropa Cymmnopra 1
11 2.63.01.01756 6ont M6*12 4
12 2.61.05.005900 HOKa PE3UHOBAs 1
13 2.63.01.01777 raiika M10 2
14 2.63.01.00287 raifka M8 4
15 2.61.05.006000 3armymka ®10.5 4




t
®
@ ./ 9
HOMeEp
KOJ HAHMEHOBaHHE KO0.1-BO
n/n

1 2.55.05.091100 TOIIMBHBIN OaK 1
2 2.55.05.030701 JIaTYUK YPOBHS TOTUIMBA 1
3 2.55.05.024801 KPBIIIKA TOTUTMBHOTO Oaka 1
4 2.55.05.026001 buIbTp 1
5 2.63.01.00914 6ot M6*25 4
6 2.63.01.01812 npokaaka 6*25%2 4
7 2.55.08.000700 BBIKJITIOYATENb 1
8 2.55.06.015200 nutadr e4.5*e8* 180 1
9 2.55.07.003200 3aKUM 2




HOMeEp

KoJ HANMEHOBAHHUE KO0JI-BO
n/n
nanens B coope GPD-
b | 25601184600 | 1 hvi0302/T-1-8SKW/230V !
2 2.56.01.037101 3a/1HsAs KPBIIIKA [TAaHEIH 1
3 2.56.01.157101 JaCcTh HaHEIHN 1
4 2.56.01.042305 MePEKII0YaTEh 1
5 2.56.01.157302 mucmieir GPD-01 1
6 2.56.01.177403 BBIKJIIOUaTENb 26A 1
7 2.56.01.042304 smika EBPO 2
8 2.56.01.050201 cuiioBas po3eTka 32A 1
9 2.56.01.157102 samuta AC 16A 2
10 2.56.01.158003 00T 3a3eMIIEHHU C TalKOMI 1
11 2.57.04.046100 MaHEeb BEPXHSIS 1
12 2.63.01.01756 ooxtr M6*12 3
13 2.63.01.00291 raiika M6 9




